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DAY 6 REVIEW WS

CALCULATOR ¢ LINEAR REGRESSION REVIEW Date: Period:

The table below shows the high school boy’s national record in the 2-mile run.

Year Athlete HS Boys 2mile List1 List2
1965 Mike Ryan 8:57.8 S S37¢9
1969 Steve Prefontaine 8:41.5 9 521.S
1973 Craig Virgin 8:40.9 e $20.9
2008 German Fernandez 8:34.23 4e 1923
201 Lukas Verzbicas 8:29.46 S €09. 40
Let x = O represent 1960.
1.) Define your variables and write down the first ordered pair that you have entered in the
calculator. Get this checked!

X = ‘H o-c g ch-‘l'C( \Qbo \l'= rt covd e N Q&Qohé_\ (S,ngg)

2.) Write the linear regression model with variables defined. (Round each value to 4
decimal places) @

4 [b ac—sLoFx
Y= - .298 2L x +$2%08\2¢ b= y-int

3.)  What is the slope and write a sentence describing the slope of the line in terms of the data.
m="3982  Ruery year, the record e deaps by 3192 seconds.
\
4.) Use the linear model to predict the 2-mile record time in the year 2010.
conver—b ln 200 the r(cové Wil be
(so0,€10.4)  edetomas g:30.1

20l =2 x=¢C€0

5) Using the model, predict the year when the record time will be 7 minutes. Round your
answer to the nearest whole year.

Vmng = H20 Secs \N= Y20 Duf\hj e Veor 2220 88/{-\,\L

(21823, 420) flcovea wi\\ be Joainotes.
R pdd 4p L0
6.)  What is the vertical intercept and what does it represent in the real world. Include a
quantitative description.

(0,530 . e120) ln 1200 dve recors time way @mine, §0.85ec.
(%u‘bv\0¥ chrc\\h?) 4o oo éa,;‘\“&)

7.)  What is the horizontal-intercept and what does it represent in the real world, if at all
applicable.

(l?,B'} ) (n twe \eor 32.@'3,{4’“, f‘((/oré will \3@ Okcovcl(‘
o
/

/ No veco WO(\A ML@‘V\\,V\& Th\b \S \V“Pbbg'\]ﬂk“
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8.)  What does the correlation coefficient tell you about the data?

r= —.2> N\“'J(\V{’\"\ C*"U"‘34M3°u‘k\v‘ \Wneor corerelaton




Graph the following functions in your calculator. SKETCH THE GRAPH. Find an appropriate window
to see all relevant information in your graph. Write down the window and find the domain, range,
and intercepts of the graph. Find the vertex if applicable.

1
9. y =§|x—64|—99 SKETCH: D: & R: v 2-99

Xmin = —*00

Xmax= 3 o0 x-intercept(s): (’\%‘1,0)
Xscl= \ /

Ymin= - 200 \M ('Lb’)-, o)
Ymax= 0o -intercept: —

—= y Pt: (0,-63)
Xres=1

vertex (if applicable): ((.,q’ - qq)

10. y=-3x*+20x+111 SKETCH:
Xmin = -2 o D: Rt vz 443
Xmax= 20 )
Xscl= | x-intercept(s): (-3. €02, 0)
Ymin= —-2.00
Ymax= 1S6 (10.23,0)
Yscl= | y-intercept:
Xres= 1 (O‘ \\\)

11. Find the missing coordinate using the function in #14. vertex (if applicable): (323 43 ;%)

a) (-12,y) b) (x. 21) g '

(/tl,‘S'el) ('3,018,2\)(q.7%§,20

ALGEBRA REVIEW QUESTIONS: Solve the following equations with respect to all real numbers.

12. = (x-AYx-)=0 s> Sys4=1v0 X —Sx-6=0 ‘x—,é/r\
(=6 x+\)=0

-\ L
13. _—]|x—9|+10:—2 S e e T s
2

®x=q=24 | x-S

14. x(x-1)(3x+5)=0 | x= O, \,—§/3J

15. 5x*=45x  SX'-YTy - 0o S‘x(x’C\)'«O' x=0,a E
16 K =24-20 w220 (ralDx-)=0 [x= 6%\

2 >
17. 3x°-20=7x 3xT-Mx —20=0 @X*Y)(X'b\):o

2y —\2x + Sx-2070 —~
2 ) 45070 x5




